# THE SCHUR-HARMONIC-CONVEXITY OF DUAL FORM OF THE HAMY SYMMETRIC FUNCTION 

Junxia Meng, Yuming Chu and Xiaomin Tang

Abstract. We prove that the dual form of the Hamy symmetric function

$$
H_{n}(x, r)=H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; r\right)=\prod_{1 \leq i_{1}<\cdots<i_{r} \leq n}\left(\sum_{j=1}^{r} x_{i_{j}}^{\frac{1}{r}}\right)
$$

is Schur harmonic convex in $\mathbf{R}_{+}^{n}$. As applications, some inequalities are established by use of the theory of majorization.

## 1. Introduction

Throughout this paper, we denote by $\mathbf{R}^{n}(n \geq 2)$ the $n$-dimensional Euclidean space, $\mathbf{R}=\mathbf{R}^{1}$ and $\mathbf{R}_{+}^{n}=\left\{\left(x_{1}, x_{2}, \ldots, x_{n}\right): x_{i}>0, i=1,2, \ldots, n\right\}$.

For $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right), y=\left(y_{1}, y_{2}, \ldots,\right) \in \mathbf{R}_{+}^{n}$ and $\alpha>0$, we denote by

$$
\begin{aligned}
x+y & =\left(x_{1}+y_{1}, x_{2}+y_{2}, \ldots, x_{n}+y_{n}\right), \\
x y & =\left(x_{1} y_{1}, x_{2} y_{2}, \ldots, x_{n} y_{n}\right), \\
\alpha x & =\left(\alpha x_{1}, \alpha x_{2}, \ldots, \alpha x_{n}\right), \text { and } \\
\frac{1}{x} & =\left(\frac{1}{x_{1}}, \frac{1}{x_{2}}, \ldots, \frac{1}{x_{n}}\right) .
\end{aligned}
$$

For $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$ and $r \in\{1,2, \ldots, n\}$, the Hamy symmetric function [1-3] was defined as

$$
F_{n}(x, r)=F_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; r\right)=\sum_{1 \leq i_{1}<i_{2}<\cdots<i_{r} \leq n}\left(\prod_{j=1}^{r} x_{i_{j}}\right)^{\frac{1}{r}}
$$

[^0]Corresponding to this is the $r$-order Hamy mean

$$
\sigma_{n}(x, r)=\frac{1}{C_{n}^{r}} \sum_{1 \leq i_{1}<i_{2}<\cdots<i_{r} \leq n}\left(\prod_{j=1}^{r} x_{i_{j}}\right)^{\frac{1}{r}}
$$

where $C_{n}^{r}=\frac{n!}{(n-r)!r!}$. T. Hara et al. [1] established the following refinement of the classical arithmetic and geometric mean inequality:

$$
G_{n}(x)=\sigma_{n}(x, n) \leq \sigma_{n}(x, n-1) \leq \cdots \leq \sigma_{n}(x, 2) \leq \sigma_{n}(x, 1)=A_{n}(x)
$$

Here $A_{n}(x)=\frac{1}{n} \sum_{i=1}^{n} x_{i}$ and $G_{n}(x)=\left(\prod_{i=1}^{n} x_{i}\right)^{\frac{1}{n}}$ denote the classical arithmetic and geometric means, respectively.

The paper [4] by H. T. Ku et al. contains some interesting inequalities including the fact that $\left(\sigma_{n}(x, r)\right)^{r}$ is log-concave, the more results can be found in the book [5] by P. S. Bullen. In [2], the Schur convexity of the Hamy symmetric function and its generalization was discussed. In [3], W. D. Jiang defined the dual form of the Hamy symmetric function as follows

$$
\begin{equation*}
H(x, r)=H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; r\right)=\prod_{1 \leq i_{1}<i_{2}<\cdots<i_{r} \leq n}\left(\sum_{j=1}^{r} x_{i_{j}}^{\frac{1}{r}}\right) \tag{1.1}
\end{equation*}
$$

for $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$ and $r \in\{1,2, \ldots, n\}$. The Schur concavity and the Schur geometrically convexity of $H_{n}(x, r)$ were discussed, and some analytic inequalities were established by use of the theory of majorization.

Our main aim in what follows is to introduce the notion of Schur-harmonicconvexity and prove that $H_{n}(x, r)$ is Schur harmonic convex in $\mathbf{R}_{+}^{n}$.

For convenience of readers, we recall and introduce some definitions as follows.
Definition 1.1. A set $E_{1} \subseteq \mathbf{R}^{n}$ is called a convex set if $\frac{x+y}{2} \in E_{1}$ whenever $x, y \in E_{1}$. A set $E_{2} \subseteq \mathbf{R}_{+}^{n}$ is called a harmonic convex set if $\frac{2 x y}{x+y} \in E_{2}$ whenever $x, y \in E_{2}$.

It is easy to see that $E \subseteq \mathbf{R}_{+}^{n}$ is a harmonic convex set if and only if $\frac{1}{E}=\left\{\frac{1}{x}\right.$ : $x \in E\}$ is a convex set.

Definition 1.2. Let $E \subseteq \mathbf{R}^{n}$ be a convex set, a real-valued function $f$ is said to be a convex function on $E$ if $f\left(\frac{x+y}{2}\right) \leq \frac{f(x)+f(y)}{2}$ for all $x, y \in E$. And $f$ is called a concave function if $-f$ is a convex function.

Definition 1.3. Let $E \subseteq \mathbf{R}_{+}^{n}$ be a harmonic convex set, a function $f: E \longrightarrow$ $\mathbf{R}_{+}$is called a harmonic convex (or concave, respectively)function on $E$ if $f\left(\frac{2 x y}{x+y}\right) \leq$ (or $\geq$, respectively ) $\frac{2 f(x) f(y)}{f(x)+f(y)}$ for all $x, y \in E$.

Definition 1.2 and 1.3 have the following consequences.

REMARK 1.1. If $E_{1} \subseteq \mathbf{R}_{+}^{n}$ is a harmonic convex set and $f: E_{1} \longrightarrow \mathbf{R}_{+}$is a harmonic convex function, then

$$
F(x)=\frac{1}{f\left(\frac{1}{x}\right)}: \frac{1}{E_{1}} \longrightarrow \mathbf{R}_{+}
$$

is a concave function. Conversely, if $E_{2} \subseteq \mathbf{R}_{+}^{n}$ is a convex set and $F: E_{2} \longrightarrow \mathbf{R}_{+}$ is a convex function, then

$$
f(x)=\frac{1}{F\left(\frac{1}{x}\right)}: \frac{1}{E_{2}} \longrightarrow \mathbf{R}_{+}
$$

is a harmonic concave function.
Definition 1.4. Let $E \subseteq \mathbf{R}^{n}$ be a set, a function $F: E \longrightarrow \mathbf{R}$ is called a Schur convex function on $E$ if

$$
F\left(x_{1}, x_{2}, \ldots, x_{n}\right) \leq F\left(y_{1}, y_{2}, \ldots, y_{n}\right)
$$

for each pair of $n$-tuples $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ and $y=\left(y_{1}, y_{2}, \ldots, y_{n}\right)$ in $E$, such that $x \prec y$, i. e.

$$
\sum_{i=1}^{k} x_{[i]} \leq \sum_{i=1}^{k} y_{[i]}, k=1,2, \ldots, n-1
$$

and

$$
\sum_{i=1}^{n} x_{[i]}=\sum_{i=1}^{n} y_{[i]}
$$

where $x_{[i]}$ denotes the $i$-th largest component in $x$. And $F$ is called Schur concave if $-F$ is Schur convex.

Definition 1.5. Let $E \subseteq \mathbf{R}_{+}^{n}$ be a set. A function $F: E \longrightarrow \mathbf{R}_{+}$is called a Schur harmonic convex (or concave, respectively) function on $E$ if

$$
F\left(x_{1}, x_{2}, \ldots, x_{n}\right) \leq(\text { or } \geq, \text { respectively }) F\left(y_{1}, y_{2}, \ldots, y_{n}\right)
$$

for each pair of $n$-tuples $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ and $y=\left(y_{1}, y_{2}, \ldots, y_{n}\right)$ in $E$, such that $\frac{1}{x} \prec \frac{1}{y}$.

Definition 1.4 and 1.5 have the following consequences.
Remark 1.2. Let $E \subseteq \mathbf{R}_{+}^{n}$ be a set and $H=\frac{1}{E}=\left\{\frac{1}{x}: x \in E\right\}$. Then $f: E \longrightarrow \mathbf{R}_{+}$is a Schur harmonic convex (or concave, respectively) function on $E$ if and only if $\frac{1}{f\left(\frac{1}{x}\right)}$ is a Schur concave (or convex, respectively) function on $H$.

Schur convexity was introduced by I. Schur in 1923 [6], it has many important applications in analytic inequalities [7-12], linear regression [13], graphs and matrices [14], combinatorial optimization [15], information-theoretic topics [16], Gamma functions [17], stochastic orderings [18], reliability [19] and other related fields. But no one has ever researched the Schur harmonic convexity. In the present paper, the Schur harmonic convexity of the dual form of the Hamy symmetric function will be discussed.

## 2. Lemmas

In this section, we introduce and establish several lemmas, which are used in the proof of our main result in next sections.

Lemma 2.1 [6] Let $E \subseteq \mathbf{R}^{n}$ be a symmetric convex set with nonempty interior int $E$ and $\varphi: E \longrightarrow \mathbf{R}$ be a continuous symmetry function on $E$. If $\varphi$ is differentiable on int $E$, then $\varphi$ is Schur convex on $E$ if and only if

$$
\begin{equation*}
\left(x_{i}-x_{j}\right)\left(\frac{\partial \varphi}{\partial x_{i}}-\frac{\partial \varphi}{\partial x_{j}}\right) \geq 0 \tag{2.1}
\end{equation*}
$$

for all $i, j=1,2, \ldots, n$ and $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in$ int $E$. Here, $E$ is a symmetric set which means that $x \in E$ implies $P x \in E$ for any $n \times n$ permutation matrix $P$.

REmark 2.1. Since $\varphi$ is symmetric, the Schur's condition in Lemma 2.1, i. e. (2.1) can be reduced as

$$
\left(x_{1}-x_{2}\right)\left(\frac{\partial \varphi}{\partial x_{1}}-\frac{\partial \varphi}{\partial x_{2}}\right) \geq 0
$$

The following Lemma 2.2 can easily be derived from Remark 1.2, Lemma 2.1 and Remark 2.1 together with elementary computation.

Lemma 2.2. Let $E \subseteq \mathbf{R}_{+}^{n}$ be a symmetric harmonic convex set with nonempty interior int $E$ and $\varphi: E \longrightarrow \mathbf{R}_{+}$be a continuous symmetry function on $E$. If $\varphi$ is differentiable on int $E$, then $\varphi$ is Schur harmonic convex on $E$ if and only if

$$
\left(x_{1}-x_{2}\right)\left(x_{1}^{2} \frac{\partial \varphi}{\partial x_{1}}-x_{2}^{2} \frac{\partial \varphi}{\partial x_{2}}\right) \geq 0
$$

for all $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \operatorname{int} E$.
Lemma 2.3 [2, Lemma 2.2(i); 3, Lemma 2.5; 20, Lemma 2.3] Let $x=$ $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$ and $\sum_{i=1}^{n} x_{i}=s$. If $c \geq s$, then

$$
\frac{c-x}{\frac{n c}{s}-1}=\left(\frac{c-x_{1}}{\frac{n c}{s}-1}, \frac{c-x_{2}}{\frac{n c}{s}-1}, \ldots, \frac{c-x_{n}}{\frac{n c}{s}-1}\right) \prec\left(x_{1}, x_{2}, \ldots, x_{n}\right)=x .
$$

Lemma 2.4 [20, Lemma 2.4] Let $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$ and $\sum_{i=1}^{n} x_{i}=s$. If $c \geq 0$, then

$$
\frac{c+x}{\frac{n c}{s}+1}=\left(\frac{c+x_{1}}{\frac{n c}{s}+1}, \frac{c+x_{2}}{\frac{n c}{s}+1}, \ldots, \frac{c+x_{n}}{\frac{n c}{s}+1}\right) \prec\left(x_{1}, x_{2}, \ldots, x_{n}\right)=x .
$$

## 3. Main result

Theorem 3.1. For $r \in\{1,2, \ldots, n\}$, the function $H_{n}(x, r)$ is Schur harmonic convex in $\mathbf{R}_{+}^{n}$.

Proof. The proof is divided into four cases.
Case 1. $r=1$.
In this case, we see that

$$
\begin{equation*}
H_{n}(x, 1)=H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; 1\right)=\prod_{i=1}^{n} x_{i} \tag{3.1}
\end{equation*}
$$

(3.1) leads to

$$
\left(x_{1}-x_{2}\right)\left(x_{1}^{2} \frac{\partial H_{n}(x, 1)}{\partial x_{1}}-x_{2}^{2} \frac{\partial H_{n}(x, 1)}{\partial x_{2}}\right)=\left(x_{1}-x_{2}\right)^{2} \prod_{i=1}^{n} x_{i} \geq 0
$$

Case 2. $r=n$.
In this case, we see that

$$
\begin{equation*}
H_{n}(x, n)=H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; n\right)=\sum_{i=1}^{n} x_{i}^{\frac{1}{n}} \tag{3.2}
\end{equation*}
$$

(3.2) leads to

$$
\left(x_{1}-x_{2}\right)\left(x_{1}^{2} \frac{\partial H_{n}(x, n)}{\partial x_{1}}-x_{2}^{2} \frac{\partial H_{n}(x, n)}{\partial x_{2}}\right)=\frac{1}{n}\left(x_{1}-x_{2}\right)\left(x_{1}^{1+\frac{1}{n}}-x_{2}^{1+\frac{1}{n}}\right) \geq 0
$$

Case 3. $n \geq 3$ and $r=2$.
The definition of $H_{n}(x, r)$ in (1.1) implies

$$
\begin{align*}
H_{n}(x, 2) & =H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; 2\right) \\
& =H_{n-1}\left(x_{2}, x_{3}, \ldots, x_{n} ; 2\right)\left(x_{1}^{\frac{1}{2}}+x_{2}^{\frac{1}{2}}\right) \prod_{j=3}^{n}\left(x_{1}^{\frac{1}{2}}+x_{j}^{\frac{1}{2}}\right) \tag{3.3}
\end{align*}
$$

(3.3) leads to

$$
\begin{equation*}
\frac{\partial H_{n}(x, 2)}{\partial x_{1}}=\frac{1}{2} H_{n}(x, 2)\left(\frac{x_{1}^{-\frac{1}{2}}}{x_{1}^{\frac{1}{2}}+x_{2}^{\frac{1}{2}}}+\sum_{j=3}^{n} \frac{x_{1}^{-\frac{1}{2}}}{x_{1}^{\frac{1}{2}}+x_{j}^{\frac{1}{2}}}\right) . \tag{3.4}
\end{equation*}
$$

Similarly, we have

$$
\begin{equation*}
\frac{\partial H_{n}(x, 2)}{\partial x_{2}}=\frac{1}{2} H_{n}(x, 2)\left(\frac{x_{2}^{-\frac{1}{2}}}{x_{1}^{\frac{1}{2}}+x_{2}^{\frac{1}{2}}}+\sum_{j=3}^{n} \frac{x_{2}^{-\frac{1}{2}}}{x_{2}^{\frac{1}{2}}+x_{j}^{\frac{1}{2}}}\right) \tag{3.5}
\end{equation*}
$$

(3.4) and (3.5) yield

$$
\begin{aligned}
\left(x_{1}\right. & \left.-x_{2}\right)\left(x_{1}^{2} \frac{\partial H_{n}(x, 2)}{\partial x_{1}}-x_{2}^{2} \frac{\partial H_{n}(x, 2)}{\partial x_{2}}\right) \\
& =\frac{1}{2}\left(x_{1}-x_{2}\right) H_{n}(x, 2)\left[\frac{x_{1}^{\frac{3}{2}}-x_{2}^{\frac{3}{2}}}{x_{1}^{\frac{1}{2}}+x_{2}^{\frac{1}{2}}}+\sum_{j=3}^{n} \frac{x_{1}^{\frac{1}{2}} x_{2}^{\frac{1}{2}}\left(x_{1}-x_{2}\right)+x_{j}^{\frac{1}{2}}\left(x_{1}^{\frac{3}{2}}-x_{2}^{\frac{3}{2}}\right)}{\left(x_{1}^{\frac{1}{2}}+x_{j}^{\frac{1}{2}}\right)\left(x_{2}^{\frac{1}{2}}+x_{j}^{\frac{1}{2}}\right)}\right] \\
& \geq 0 .
\end{aligned}
$$

Case 4. $n \geq 4$ and $3 \leq r \leq n-1$.
The definition of $H_{n}(x, r)$ in (1.1) implies

$$
\begin{align*}
H_{n}(x, r)= & H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; r\right) \\
= & H_{n-1}\left(x_{2}, x_{3}, \ldots, x_{n} ; r\right) \prod_{3 \leq i_{1}<i_{2}<\cdots<i_{r-1} \leq n}\left(x_{1}^{\frac{1}{r}}+\sum_{j=1}^{r-1} x_{i_{j}}^{\frac{1}{r}}\right) \times \\
& \times \prod_{3 \leq i_{1}<i_{2}<\cdots<i_{r-2} \leq n}\left(x_{1}^{\frac{1}{r}}+x_{2}^{\frac{1}{r}}+\sum_{j=1}^{r-2} x_{i_{j}}^{\frac{1}{r}}\right) . \tag{3.6}
\end{align*}
$$

Differentiating $H_{n}(x, r)$ with respect to $x_{1}$ and making use of (3.6) yield

$$
\begin{align*}
& \frac{\partial H_{n}(x, r)}{\partial x_{1}}=\frac{1}{r} H_{n}(x, r)\left(\sum_{3 \leq i_{1}<i_{2}<\cdots<i_{r-1} \leq n}\right. x_{1}^{\frac{1}{r}-1} \\
& x_{1}^{\frac{1}{r}}+\sum_{j=1}^{r-1} x_{i_{j}}^{\frac{1}{r}}  \tag{3.7}\\
&\left.+\sum_{3 \leq i_{1}<i_{2}<\cdots<i_{r-2} \leq n} \frac{x_{1}^{\frac{1}{r}-1}}{x_{1}^{\frac{1}{r}}+x_{2}^{\frac{1}{r}}+\sum_{j=1}^{r-2} x_{i_{j}}^{\frac{1}{r}}}\right) .
\end{align*}
$$

Similarly, we have

$$
\begin{align*}
\frac{\partial H_{n}(x, r)}{\partial x_{2}}= & \frac{1}{r} H_{n}(x, r)\left(\sum_{3 \leq i_{1}<i_{2}<\cdots<i_{r-1} \leq n} \frac{x_{2}^{\frac{1}{r}-1}}{x_{2}^{\frac{1}{r}}+\sum_{j=1}^{r-1} x_{i_{j}}^{\frac{1}{r}}}+\right. \\
& \left.+\sum_{3 \leq i_{1}<i_{2}<\cdots<i_{r-2} \leq n} \frac{x_{2}^{\frac{1}{r}-1}}{x_{1}^{\frac{1}{r}}+x_{2}^{\frac{1}{r}}+\sum_{j=1}^{r-2} x_{i_{j}}^{\frac{1}{r}}}\right) . \tag{3.8}
\end{align*}
$$

(3.7) and (3.8) lead to

$$
\begin{aligned}
\left(x_{1}-x_{2}\right) & \left(x_{1}^{2} \frac{\partial H_{n}(x, r)}{\partial x_{1}}-x_{2}^{2} \frac{\partial H_{n}(x, r)}{\partial x_{2}}\right)=\frac{1}{r}\left(x_{1}-x_{2}\right) H_{n}(x, r) \times \\
& \times \sum_{3 \leq i_{1}<i_{2}<\cdots<i_{r-1} \leq n} \frac{x_{1}^{\frac{1}{r}} x_{2}^{\frac{1}{r}}\left(x_{1}-x_{2}\right)+\left(x_{1}^{1+\frac{1}{r}}-x_{2}^{1+\frac{1}{r}}\right) \sum_{j=1}^{r-1} x_{i_{j}}^{\frac{1}{r}}}{\left(x_{1}^{\frac{1}{r}}+\sum_{j=1}^{r-1} x_{i_{j}}^{\frac{1}{r}}\right)\left(x_{2}^{\frac{1}{r}}+\sum_{j=1}^{r-1} x_{i_{j}}^{\frac{1}{r}}\right)} \\
& \left.+\sum_{3 \leq i_{1}<i_{2}<\cdots<i_{r-2} \leq n} \frac{x_{1}^{1+\frac{1}{r}}-x_{2}^{1+\frac{1}{r}}}{x_{1}^{\frac{1}{r}}+x_{2}^{\frac{1}{r}}+\sum_{j=1}^{r-2} x_{i_{j}}^{\frac{1}{r}}}\right] \geq 0 .
\end{aligned}
$$

Therefore, Theorem 3.1 follows from cases 1-4 and Lemma 2.2.

## 4. Applications

In this section, we establish some inequalities by using Theorem 3.1 and the theory of majorization.

THEOREM 4.1. If $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$ and $r \in\{1,2, \ldots, n\}$, then

$$
H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; r\right) \geq\left[r\left(\frac{n}{\sum_{i=1}^{n} \frac{1}{x_{i}}}\right)^{\frac{1}{r}}\right]^{\frac{n!}{r!(n-r)!}}
$$

Proof. We clearly see that

$$
\begin{equation*}
\left(\frac{\sum_{i=1}^{n} \frac{1}{x_{i}}}{n}, \frac{\sum_{i=1}^{n} \frac{1}{x_{i}}}{n}, \ldots, \frac{\sum_{i=1}^{n} \frac{1}{x_{i}}}{n}\right) \prec\left(\frac{1}{x_{1}}, \frac{1}{x_{2}}, \ldots, \frac{1}{x_{n}}\right) . \tag{4.1}
\end{equation*}
$$

Therefore, Theorem 4.1 follows from Theorem 3.1, (4.1) and the definition of $H_{n}(x, r)$ in (1.1).

Remark 4.1. W. D. Jiang [3, Corollary 3.1] proved that

$$
H_{n}\left(x_{1}, x_{2}, \ldots, x_{n} ; r\right) \leq\left[r\left(\frac{\sum_{i=1}^{n} x_{i}}{n}\right)^{\frac{1}{r}}\right]^{\frac{n!}{r!(n-r)!}}
$$

for any $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$ and $r \in\{1,2, \ldots, n\}$.
The following Theorems 4.2 and 4.3 can be derived directly from Theorem 3.1, Lemma 2.3 and 2.4, and (1.1).

TheOrem 4.2. Let $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}, \sum_{i=1}^{n} x_{i}=s$. If $c \geq s$ and $r \in\{1,2, \ldots, n\}$, then

$$
\frac{H_{n}\left(\frac{1}{x}, r\right)}{H_{n}\left(\frac{1}{c-x}, r\right)} \geq\left(\frac{n c}{s}-1\right)^{\frac{n!}{r!(n-r)!r}}
$$

THEOREM 4.3. Let $x=\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}, \sum_{i=1}^{n} x_{i}=s$. If $c \geq 0$ and $r \in\{1,2, \ldots, n\}$, then

$$
\frac{H_{n}\left(\frac{1}{x}, r\right)}{H_{n}\left(\frac{1}{c+x}, r\right)} \geq\left(\frac{n c}{s}+1\right)^{\frac{n!}{r!(n-r)!r}}
$$

REMARK 4.3. If we take $c=s=r=1$ in Theorem 4.2 and 4.3, respectively, then the following two Weierstrass inequalities [21] are obtained:
(i) $\prod_{i=1}^{n}\left(x_{i}^{-1}-1\right) \geq(n-1)^{n}$;
(ii) $\prod_{i=1}^{n}\left(x_{i}^{-1}+1\right) \geq(n+1)^{n}$.

If we take $c=s=1$ and $r=n$ in Theorem 4.2 and 4.3 , respectively, then we have the following corollary 4.1.

Corollary 4.1. Suppose that $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$. If $\sum_{i=1}^{n} x_{i}=1$, then

$$
\frac{\sum_{i=1}^{n}\left(\frac{1}{x_{i}}\right)^{n}}{\sum_{i=1}^{n}\left(\frac{1}{1-x_{i}}\right)^{n}} \geq(n-1)^{\frac{1}{n}}
$$

and

$$
\frac{\sum_{i=1}^{n}\left(\frac{1}{x_{i}}\right)^{n}}{\sum_{i=1}^{n}\left(\frac{1}{1+x_{i}}\right)^{n}} \geq(n+1)^{\frac{1}{n}}
$$

Theorem 4.4. Let $A$ be an $n$-dimensional simplex in $\mathbf{R}^{n}(n \geq 3)$ and $\left\{A_{1}, A_{2}, \ldots, A_{n+1}\right\}$ be the set of vertices. Let $P$ be an arbitrary point in the interior of $A$. If $B_{i}$ is the intersection point of the extension line of $A_{i} P$ and the ( $n-1$ )-dimensional hyperplane opposite to the point $A_{i}$, then

$$
H_{n+1}\left(\frac{A_{1} B_{1}}{P B_{1}}, \frac{A_{2} B_{2}}{P B_{2}}, \ldots, \frac{A_{n+1} B_{n+1}}{P B_{n+1}} ; r\right) \geq\left[r(n+1)^{\frac{1}{r}}\right]^{\frac{(n+1)!}{r!(n-r+1)!}}
$$

and

$$
H_{n+1}\left(\frac{A_{1} B_{1}}{A_{1} P}, \frac{A_{2} B_{2}}{A_{2} P}, \ldots, \frac{A_{n+1} B_{n+1}}{A_{n+1} P} ; r\right) \geq\left[r\left(\frac{n+1}{n}\right)^{\frac{1}{r}}\right]^{\frac{(n+1)!}{r!(n-r+1)!}}
$$

for $r \in\{1,2, \ldots, n, n+1\}$.
Proof. Theorem 4.4 follows from Theorem 3.1 and the fact that $\sum_{i=1}^{n+1} \frac{P B_{i}}{A_{i} B_{i}}=$ 1 and $\sum_{i=1}^{n+1} \frac{A_{i} P}{A_{i} B_{i}}=n$.

Theorem 4.5. Let $A=\left(a_{i j}\right)_{n \times n}(n \geq 2)$ be a complex matrix, $\lambda_{1}, \lambda_{2}, \ldots, \lambda_{n}$ the eigenvalues of $A$, and $I$ denotes $n \times n$ unit matrix. If $A$ is a positive definite Hermitian matrix and $r \in\{1,2, \ldots, n\}$, then

$$
\prod_{1 \leq i_{1}<i_{2}<\cdots<i_{r} \leq n}\left[\sum_{j=1}^{r}\left(\log \left(1+\lambda_{i_{j}}\right)\right)^{-\frac{1}{r}}\right] \geq\left[r\left(\frac{n}{\log \operatorname{det}(I+A)}\right)^{\frac{1}{r}}\right]^{\frac{n!}{r!(n-r)!}} .
$$

Proof. Since $\lambda_{i}(i=1,2, \ldots, n)$ is an eigenvalue of matrix $A$, we clearly see that $1+\lambda_{i}$ is an eigenvalue of matrix $I+A$ and $\prod_{i=1}^{n}\left(1+\lambda_{i}\right)=\operatorname{det}(I+A)$. This leads to

$$
\left.\left.\begin{array}{rl}
\left(\frac{\log \operatorname{det}(I+A)}{n},\right. & \frac{\log \operatorname{det}(I+A)}{n}, \ldots,
\end{array}\right) \frac{\log \operatorname{det}(I+A)}{n}\right) .
$$

Therefore, Theorem 4.5 follows from Theorem 3.1 and (4.2) together with the definition of $H_{n}(x, r)$ in (1.1).

Theorem 4.6. Let $A=\left(a_{i j}\right)_{n \times n}(n \geq 2)$ be a complex matrix, $\lambda_{1}, \lambda_{2}, \ldots, \lambda_{n}$ the eigenvalues of $A$. If $A$ is a positive definite Hermitian matrix and $r \in$ $\{1,2, \ldots, n\}$, then

$$
\prod_{1 \leq i_{1}<i_{2}<\cdots<i_{r} \leq n}\left(\sum_{j=1}^{r} \lambda_{i_{j}}^{-\frac{1}{r}}\right) \geq\left[r\left(\frac{n}{\operatorname{tr} A}\right)^{\frac{1}{r}}\right]^{\frac{n!}{r!(n-r)!}} .
$$

Proof. Theorem 4.6 follows from (1.1) and Theorem 3.1 together with the fact that $\lambda_{i}>0(i=1,2, \ldots, n)$ and $\sum_{i=1}^{n} \lambda_{i}=\operatorname{tr} A$.

THEOREM 4.7. If $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in \mathbf{R}_{+}^{n}$, then

$$
H_{n}\left(\frac{1}{1+x_{1}}, \frac{1}{1+x_{2}}, \ldots, \frac{1}{1+x_{n}}\right) \leq H_{n}\left(\frac{1}{1+\sum_{i=1}^{n} x_{i}}, 1,1, \ldots, 1\right)
$$

Proof. Theorem 4.7 follows from Theorem 3.1 and the fact that

$$
\left(1+x_{1}, 1+x_{2}, \ldots, 1+x_{n}\right) \prec\left(1+\sum_{i=1}^{n} x_{i}, 1,1, \ldots, 1\right) .
$$

## REFERENCES

[1] T. Hara, A refinement of various mean inequalities, J. Inequal. Appl. 2 (1998), 387-395.
[2] K.Z. Guan, The Hamy symmetric function and its generalization, Math. Inequal. Appl. 9 (2006), 797-805.
[3] W.D. Jiang, Some properties of dual form of the Hamy symmetric function, J. Math. Inequal. 1 (2007), 117-125.
[4] H.T. Ku, M.C. Ku, X.M. Zhang, Inequalities for symmetric means, symmetric harmonic means and their applications, Bull. Austral. Math. Soc. 56 (1997), 409-420.
[5] P.S. Bullen, Handbook of Means and Their Inequalities, Kluwer Acad. Publ., Dordrecht, 2003.
[6] A.W. Marshall, I. Olikin, Inequalities: Theory of Majorization and its Applications, Acad. Press, New York, 1979.
[7] G.H. Hardy, J.E. Littlewood, G. Pólya, Some simple inequalities satisfied by convex functions, Messenger Math. 58 (1929), 145-152.
[8] X.M. Zhang, Schur-convex functions and isoperimetric inequalities, Proc. Amer. Math. Soc. 126 (1998), 461-470.
[9] J.S. Aujla, F.C. Silva, Weak majorization inequalities and convex functions, Linear Algebra Appl. 369 (2003), 217-233.
[10] F. Qi, J. Sándor, S. S. Dragomir, A. Sofo, Notes on the Schur-convexity of the extended mean values, Taiwanese J. Math. 9 (2005), 411-420.
[11] Y.M. Chu, X.M. Zhang, Necessary and sufficient conditions such that extended mean values are Schur-convex or Schur-concave, J. Math. Kyoto Univ. 48 (2008), 229-238.
[12] Y.M. Chu, X.M. Zhang, G.D. Wang, The Schur geometrical convexity of the extended mean values, J. Convex Anal. 15 (2008), in press.
[13] C. Stepniak, Stochastic ordering and Schur-convex functions in comparison of linear experiments, Metrika 36 (1989), 291-298.
[14] G.M. Constantine, Schur-convex functions on the spectra of graphs, Discrete Math. 45 (1983), 181-188.
[15] K.H. HWang, U.G. Rothblum, Partition-optimization with Schur convex sum objective functions, SIAM J. Discrete Math. 18 (2004/2005), 512-524.
[16] A. Forcina, A. Giovagnoli, Homogeneity indices and Schur-convex functions, Statistica (Bologna) 42 (1982), 529-542.
[17] M. Merkle, Schur-convexity and bounds for the gamma function involving the digamma function, Rocky Mountain J. Math. 28 (1998), 1053-1066.
[18] M. Shaked, J.G. Shanthikumar, Y.L. Tong, Parametric Schur convexity and arrangement monotonicity properties of partial sums, J. Multivariate Anal. 53 (1995), 293-310.
[19] K.H. HWang, U.G. Rothblum, L. Shepp, Monotone optimal multipartitions using Schur convexity with respect to partial orders, SIAM J. Discrete Math. 6 (1993), 533-547.
[20] K.Z. Guan, Schur-convexity of the complete symmetric function, Math. Inequal. Appl. 9 (2006), 567-576.
[21] P.S. Bullen, A Dictionary of Inequalities, Longman, Harlow, 1998.
(received 29.10.2008, in revised form 16.03.2009)
J. Meng, College of Mathematics and Information Science, Jiaxing University, Jiaxing 314001, P. R. China

E-mail: junxiameng@yahoo.cn
Y. Chu, Department of Mathematics, Huzhou Teachers College, Huzhou 313000, P. R. China

E-mail: chuyuming@hutc.zj.cn
X. Tang, Department of Mathematics, Huzhou Teachers College, Huzhou 313000, P. R. China

E-mail: txm@hutc.zj.cn


[^0]:    2010 AMS Subject Classification: 26B25, 05E05, 26D20.
    Keywords and phrases: Dual form; Hamy symmetric function; Schur convex; Schur harmonic convex.

    This research was supported by the NSF of P. R. China under grant No. 10771195 and No. 10771064 , NSF of Zhejiang Province under grant No.Y607128 and Foundation of the Educational Committee of Zhejiang Province under grant No. 20060306.

